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QUESTION 1

Which are three facts about backups with mysgldump? (Choose three.)
A. will lock all storage engines for duration of backup

B. can back up a remote database server

C. allow a consistent backup to be taken

D. are able to back up specific items within a database

E. create automatically compressed backups

F. are always faster to restore than binary backups

Correct Answer: BCD

QUESTION 2

Consider:

mysgl> EXPLAIN SELECT Name FROM Country WHERE Population BETWEEN 1 AND 10000\G

o e e e o o e e o o e e e o e e e R 1‘ row LA R B R B R R R R R R R R SR EEEEEEEEERESE]
id: 1
select_type: SIMPLE
table: Country
type: range
possible keys: i_pop

key: i_pop
key len: 4

ref: NULL

rows: 10

Extra: Using where
What does the range value in the type column mean?
A. You can use an index and return rows that fall within a range of values.
B. The table will be scanned over a certain range of values.
C. This type of index uses the range hash.
D. There is a range of indexes that can be used.

Correct Answer: C

QUESTION 3

One of your colleagues is trying to make a change using the mysgl command-line client for his or her application
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session.

The colleague instant messages you this command:
mysql> SET SESSION max_connections = 200;
Why does the command fail?

A. max_connections requires the GLOBAL scope.

B. Its current user does not have the SUPER privilege.

C. max_connections is not a dynamic variable. You need to change the config file and restart the database.

D. Users can control only the max_user_connections variable.

Correct Answer: A

QUESTION 4

Multiversion Concurrency Control (MVCC) enables what type of backup?
A. Hot

B. Binary

C. Logical

D. Incremental

Correct Answer: A

Reference: https://dev.mysqgl.com/doc/refman/5.7/en/glossary.html

QUESTION 5

You back up by using mysqgldump.

Which configuration is required on the MySQL Server to allow point-in-time recovery?
A. binlog_format=STATEMENT

B. log-bin

C. apply-log

D. bonlog_format=ROW

E. gtid_enable

Correct Answer: B
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Reference: https://dev.mysqgl.com/doc/mysql-backup-excerpt/5.7/en/point-in-time-recovery.html
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